ODD ONE OUT—1

. Four of the following five are alike in
a certain way and so form a group.
Which is one that does not belong to
that group?

(a) Tortoise  (b) Frog
(d) Mongoose (e) Snake

(c) Rat

. Four of the following five are alike in
a certain way and so form a group.
Which is the one that does not belong
to that group?

(a) Swan (b) Crocodile (c) Frog
(d) Snake (e) Chicken

. Four of the following five are alike in
a certain way and so form a group.
Which is the one that does not belong
to that group?

(a) Coriander (b) Potato
(d) Onion (e) Ginger

. Four of the following five are alike in
a certain way and so form a group.
Which is the one that does not belong
to that group?

(a) Crow (b) Vulture
(d) Ostrich (e) Eagle

. Four of the following five are alike in
a certain way and so form a group.
Which is the one that does not belong
to that group?

(a) Volume (b) Size
(d) Shape (e) Weight

. Four of the following five are alike in
certain way and so form a group.
Which is the one that does not belong
to that group?

(a) August (b) December (c) July
(d) January (e) May

. Four of the following five are alike in
a certain way and so form a group.
Which is the one that does not belong
to that group?

(c) Beetroot

(c) Bat

(c) Large
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(a) Jackal (b) Cheetah (c) Tiger
(d) Lion (e) Dog

Four of the following five are alike in
a certain way and so form a group.
Which is one that does not belong to
that group?

(a) Cheese (b) Butter
(d) Curd (e) Ghee

Four of the following five are alike in
a certain way and so form a group.
Which is the one that does not belong
to that group?

(a) Sultry (b) Hot
(d) Warm (e) Cool

Four of the following five are alike in
a certain way and so form a group.
Which is the one that does not belong
to that group?
(a) Now

(d) Before

Four of the following five are alike in
a certain way and so form a group.
Which is the one that does not belong
to that group?

(a) Teacher (b) Engineer ( C )

(c) Milk

(c) Humid

(b) After (c) Then
(e) Again

Arehitect
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(d) Doctor (e) Scientist

Four of the following live are alike in
a certain way and so form a group.
Which is the one that does not belong
to the group?

(a) Listen (b) Feel
(d) Sing (e) Hear

Four of the following five are alike in
a certain way and so form a group.
Which is the one that does not belong
to that group?

(a) Anxiety (b) Anger
(d) Joy (e) Feeling

(c) Think

(c) Sorrow
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Four of the following five words are
alike in a certain way and so form a
group. Which is the one that does not
belong to that group?
(a) Three (b) Four
(d) Six (e) Nine

Four of the following five are alike in
a certain way and so form a group.
Which is the one that does not belong
to that group?
(a) Anxiety

() Inhibition
(e) Weariness

(c) Five

(b) Worry
(d) Curiosity

Four of the following five are alike in
a certain way and hence form a
group. Find the one which is different
from the other four.

(a) Rice (b) Wheat (c) Barley
(d) Mustard (e) Bajra
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Four of the following five are alike in
a certain way and hence from a
group. Find the one which is different
from the other four.

(a) Arrow (b) Sword
(d) Axe (e) Pis to)

Four of the following five are alike in
a certain way and so form a group.
Which is the one that does not belong
to that group?

(c) Knife

(a) Pear (b) Jackfruit
(c) Watermelon (d) Papaya
(e) Mango

Four of the following five are alike in
a certain way and so form a group.
Which is (the one that does not
belong to that group?

(a) Pencil (b) Sharpener
(c) Blackboard (d) Chalk
(e) Pen
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